

Banglar Dairy Limited
P.O. - Dankuni Coal Complex, Dist - Hooghly, Pin - 712310

PUR/ENQ/Masonry/Engg/2359

Date : 26.01.2026

WHOEVER IS CONCERNED

Sub : CIVIL (Masonry) Repair Work at SMP mixing room at Banglar Dairy Limited, Dankuni plant

Dear Sir,

We invite your quotation for "CIVIL (Masonry) Repair Work at SMP mixing room (at 1st floor) at Banglar Dairy Limited, Dankuni plant". Please refer to **ANNEXURE A** for details of job and estimated rate. Quotation must reach our office within **1 pm on 03.02.2026**.

Quoted rate should be inclusive of cost of labour, material and accessories but exclusive of GST. GST will be paid extra as applicable.

Offer should be submitted in the enclosed Offer Form only.

Intending bidders should have the following documents. The successful bidder should submit these documents before issuing work order.

1. GST Registration Certificate
2. PAN
3. Income Tax Return Certificate for FY 2024-25
4. Valid Trade License

TERMS & CONDITIONS

The job is required to be complete within 30 days from the date of placement of order.

The enquiry document is not transferable.

Payment will be made within 30 days after receipt of invoice duly certified by the competent authority.

The work shall be carried out according to the instruction given by the authorized representative of the Dairy. Dairy's representative will supervise the job and the work will be considered completed only when he is satisfied with the quality of work done.

Bad workmanship will not be accepted and if carried out is liable to be rejected and should be rectified by the contractor at his cost as per specification and directions given by Dairy's authorized representative. The decision of Chief General Manager, Mother Dairy Calcutta, as to items of bad workmanship and proper replacement / rectification will be final and binding on you.

Damages done to any of Dairy's property by the contractor or his representative(s), will have to be made good by the contractor at his cost as directed by the authorized representative of the Dairy.

The Dairy shall not be liable for injury of any person engaged by the contractor within / outside the dairy premises in connection with the contract. The contractor shall take all liabilities and responsibilities of his personnel in case of injury / accident etc. failing vehicle for legal proceedings in accordance with law.

If at any time contractor's personnel is found involved in any unlawful act / theft / smuggling of Dairy's properties, Mother Dairy Calcutta reserves its right to make appropriate recovery of the same from the contractor and also penalize the contractor as mutually agreed.

The contractor shall not transfer, partially or fully, the benefits of the contract to any individual / firm / company at any time within the contract period.

The Chief General Manager reserves the right to accept any or reject any or all offers without assigning any reason whatsoever. The Chief General Manager also reserves the right to amend / alter the contract during the contract period if needed.

If any dispute or difference shall at any time arise between the two parties in respect of this order or concerning anything herein contained or arising out of this order, or as to the rights, liabilities or duties of the said parties hereunder, or as to the recovery of any amount, the same shall be referred to the sole arbitration of Managing Director, Banglar Dairy Limited, Prani Sampad Bhaban, Block LB-2, Sector-III, Salt Lake City, Kolkata-700106. The decision of the Arbitrator shall be final and binding on the parties. The Honorable High Court at Kolkata shall be the exclusive jurisdiction as regards any dispute / arbitration under these terms irrespective of any jurisdiction clauses mentioned hereinabove or subsequently in other place(s). The arbitration proceedings should be governed by the provision of the Arbitration and Conciliation Act 1996 and rules made there under of any amendment or statutory modification thereof for the time being in force.

If you seek any clarification regarding submission of your Quotation, you may contact our In-charge (Engineering) at our Dankuni Plant on any working day.

Thanking you,

Yours faithfully,
for Banglar Dairy Limited

In-charge, Purchase

Mann
26/10/26

Banglar Dairy Limited

ANNEXURE - A

P.O.-D.C.C., Dist.- Hooghly, PIN-712 310

NAME OF SCHEME: Abstract of Tentative Estimated Cost for Civil (Masonry) repairing works of S.M.P. Mixing Plant Floor (at 1st. Floor level) at Banglar Dairy Limited, Dankuni Dairy Plant.

Sl. No.	Description of Items	Quantity	Unit	Rate (Rs.)	Unit of Rate	Amount (Rs.)	Reference of Item in PWD (WB) Schedule of Rates w.e.f.-01.11.2017 WC-II, Howrah/Hooghly
1	Providing & laying acid / alkali proof red mandana stone, 40 mm thick dressing and cutting to the required size, applying acid / alkali resistant primer on base, fixing stone over cement sand mortar (1:2) mixed with acid proof powder, filling the joints with acid / alkali proof joint filling materials including machine polishing complete as directed (No wastage will be paid).	10.00	Sqm	1,500.00	Sqm	15,000.00	Non Scheduled Items
2	Taking out & fitting, fixing of old loose Mandana stone slab including chiseling mortar from back side of Mandana stone, dressing, cutting and sizing to the required size and laying over 25 mm thick cement sand mortar (1:2) and joint filling with acid / alkali proof joint filling materials (i.e. epoxy resin, marble dust etc.) and finally machine polishing complete with removal and dumping of debris at a suitable spot within a distance of 75 metre complete as directed (Only old Mandana stone shall be supplied by Banglar Dairy).	8.00	Sqm	700.00	Sqm	5,600.00	Non Scheduled Items
3	Removing out of old damaged Mandana stone from floor, dado, skirting with cutting and chiseling out the underlayer old cement sand mortar excluding any hard concrete base and dumping the rubbish at a suitable spot within a distance of 75 metre complete as directed.	10.00	Sqm	200.00	Sqm	2,000.00	Non Scheduled Items
4	Chiseling out carefully of existing damaged mandana stone joint filler and filling up the same joint grooves with acid, alkali proof epoxy resin and marble dust compound etc. to all around existing mandana stone including machine polishing etc. complete as directed.	250.00	R-M	150.00	R-M	37,500.00	Non Scheduled Items
5	Stripping off worn out plaster and raking out joints of walls, ceilings etc. upto any height and in any floor including removing rubbish within a lead of 75m as directed.	20.00	Sq.M.	19.00	Sq.M.	380.00	Page - 11, Item - 10

Sl. No.	Description of Items	Quantity	Unit	Rate (Rs.)	Unit of Rate	Amount (Rs.)	Reference of Item in PWD (WB) Schedule of Rates w.e.f.-01.11.2017 WC-II, Howrah/Hooghly
6	Dismantling all types of plain cement concrete works, stacking serviceable materials at site and removing rubbish as directed within a lead of 75m.						
	In ground floor including roof.						
	(a) upto 150 mm. thick	0.40	Cum.	939.00	Cum.	375.60	Page - 10, Item 2-a
7	Ordinary Cement concrete (mix 1:1.5:3) with graded stone chips (20 mm nominal size) excluding shuttering and reinforcement if any, in ground floor.						
	(a) Pakur variety.	0.40	Cum.	5,691.80	Cum.	2,276.72	3rd CORRIGENDA & ADDENDA, Page 12-13, Sl. No -33
8	Plaster (to wall, floor, ceiling etc.) with sand and cement mortar including rounding off or chamfering corners as directed and raking out joints including throating, nosing and drip course, scaffolding / staging where necessary (Ground floor). [Excluding cost of chipping over concrete surface].						
	(i) With 1:4 cement mortar						
	(a) 15 mm thick plaster	10.00	Sqm.	160.00	Sqm.	1,600.00	3rd CORRIGENDA & ADDENDA, Page 49-50, Sl. No.-1-ii-b
	(b) 10 mm thick plaster	10.00	Sqm.	129.00	Sqm.	1,290.00	3rd CORRIGENDA & ADDENDA, Page 49-50, Sl. No.- 1-ii-c
9	Cleaning the concrete surface by removing dirt and debris, marking defective locations and removing loose concrete by careful stripping until hard surface is exposed, cutting the concrete to regular shape, wire brushing the exposed surface and removing debris from site complete as per direction of the Engineer - in - Charge.	20.00	Sqm.	90.00	Sqm.	1,800.00	Page 45, Item 5
10	Cleaning the exposed reinforcement preferably upto full diameter by wire brush, applying two coats of polymer based rust removing compound left for 24 hours, removing the coating and then applying two (2) coats of polymer modified anti corrosive protective coating formulated to inhibit the corrosion of reinforcement as per manufacturer's specification] [Mode of measurement : The affected surface area of reinforcement shall be considered for payment]	2.00	Sqm.	785.00	Sqm.	1,570.00	Page 45, Item 6

Sl. No.	Description of Items	Quantity	Unit	Rate (Rs.)	Unit of Rate	Amount (Rs.)	Reference of Item in PWD (WB) Schedule of Rates w.e.f.-01.11.2017 WC-II, Howrah/Hooghly
11	Applying epoxy based reactive joining agent for joining the old concrete with fresh concrete to be applied within manufacturer's specified time as per manufacturers specification. (0.4 Kg / m ² of concrete surface).						
	Note : Applicable only when the full diameter of reinforcement steel is exposed.	20.00	Sqm.	309.00	Sqm.	6,180.00	Page - 45, Item - 7
12	Supplying and laying true to line and level vitrified tiles of approved brand (size not less than 600 mm X 600 mm X 10 mm thick) in floor, skirting etc. set in 20 mm sand cement mortar (1:4) and 2 mm thick cement slurry back side of tiles using cement @ 2.91Kg./sqM or using polymerised adhesive (6 mm thick layer applied directly over finished artificial stone floor / Mosaic etc without any backing course) laid after application slurry using 1.75 Kg of cement per sqM below mortar only, joints grouted with admixture of white cement and colouring pigment to match with colour of tiles / epoxy grout materials of approved make as directed and removal of wax coating of top surface of tiles with warm water and polishing the tiles using soft and dry cloth upto mirror finish complete including the cost of materials, labour and all other incidental charges complete true to the manufacturer's specification and direction of Engineer-in-Charge. (White cement, synthetic adhesive and grout material to be supplied by the contractor).						
	(I) With application slurry @1.75 kg/ Sq.m, 20 mm sand cement mortar (1:4) & 2 mm thick cement slurry at back side of tiles, 0.2 kg/ Sq.m white cement for joint filling with pigment.						
	(B) Light Colour	3.00	Sqm.	1,276.00	Sqm.	3,828.00	3rd CORRIGENDA & ADDENDA, Page 36, Sl. No.-23-I-B
TOTAL						79400.32	

N.B. : G.S.T. extra as applicable.

ENQ NO 2359/26.01.2026

Banglar Dairy Limited

OFFER FORM

P.O.-D.C.C., Dist.- Hooghly, PIN-712 310

NAME OF SCHEME : Abstract of Tentative Estimated Cost for Civil (Masonry) repairing works of S.M.P. Mixing Plant Floor (at 1st. Floor level) at Banglar Dairy Limited, Dankuni Dairy Plant.

Sl. No.	Description of Items	Quantity	Unit	Estimated Rate per unit (Rs)	Total Amount (Rs)	Quoted Rate per unit (Rs)	Total Amount (Rs)
1	Providing & laying acid / alkali proof red mandana stone, 40 mm thick dressing and cutting to the required size, applying acid / alkali resistant primer on base, fixing stone over cement sand mortar (1:2) mixed with acid proof powder, filling the joints with acid / alkali proof joint filling materials including machine polishing complete as directed (No wastage will be paid).	10.00	Sqm	1500	15,000.00		
2	Taking out & fitting, fixing of old loose Mandana stone slab including chiseling mortar from back side of Mandana stone, dressing, cutting and sizing to the required size and laying over 25 mm thick cement sand mortar (1:2) and joint filling with acid / alkali proof joint filling materials (i.e. epoxy resin, marble dust etc.) and finally machine polishing complete with removal and dumping of debris at a suitable spot within a distance of 75 metre complete as directed (Only old Mandana stone shall be supplied by Banglar Dairy).	8.00	Sqm	700.00	5,600.00		
3	Removing out of old damaged Mandana stone from floor, dado, skirting with cutting and chiseling out the underlayer old cement sand mortar excluding any hard concrete base and dumping the rubbish at a suitable spot within a distance of 75 metre complete as directed.	10.00	Sqm	200.00	2,000.00		
4	Chiseling out carefully of existing damaged mandana stone joint filler and filling up the same joint grooves with acid, alkali proof epoxy resin and marble dust compound etc. to all around existing mandana stone including machine polishing etc. complete as directed.	250.00	R-M	150.00	37500.00		
5	Stripping off worn out plaster and raking out joints of walls, ceilings etc. upto any height and in any floor including removing rubbish within a lead of 75m as directed.	20.00	Sq.M.	19.00	380.00		

Sl. No.	Description of Items	Quantity	Unit	Estimated Rate per unit (Rs)	Total Amount (Rs)	Quoted Rate per unit (Rs)	Total Amount (Rs)
6	Dismantling all types of plain cement concrete works, stacking serviceable materials at site and removing rubbish as directed within a lead of 75m.						
	In ground floor including roof.						
	(a) upto 150 mm. thick	0.40	Cum.	939.00	375.60		
7	Ordinary Cement concrete (mix 1:1.5:3) with graded stone chips (20 mm nominal size) excluding shuttering and reinforcement if any, in ground floor.						
	(a) Pakur variety.	0.40	Cum.	5691.80	2,276.72		
8	Plaster (to wall, floor, ceiling etc.) with sand and cement mortar including rounding off or chamfering corners as directed and raking out joints including throating, nosing and drip course, scaffolding / staging where necessary (Ground floor). [Excluding cost of chipping over concrete surface].						
	(i) With 1:4 cement mortar						
	(a) 15 mm thick plaster	10.00	Sqm.	160.00	1,600.00		
	(b) 10 mm thick plaster	10.00	Sqm.	129.00	1,290.00		
9	Cleaning the concrete surface by removing dirt and debris, marking defective locations and removing loose concrete by careful stripping until hard surface is exposed, cutting the concrete to regular shape, wire brushing the exposed surface and removing debris from site complete as per direction of the Engineer - in - Charge.	20.00	Sqm.	90.00	1,800.00		
10	Cleaning the exposed reinforcement preferably upto full diameter by wire brush, applying two coats of polymer based rust removing compound left for 24 hours, removing the coating and then applying two (2) coats of polymer modified anti corrosive protective coating formulated to inhibit the corrosion of reinforcement as per manufacturer's specification] [Mode of measurement : The affected surface area of reinforcement shall be considered for payment]	2.00	Sqm.	785.00	1,570.00		

Sl. No.	Description of Items	Quantity	Unit	Estimated Rate per unit (Rs)	Total Amount (Rs)	Quoted Rate per unit (Rs)	Total Amount (Rs)
11	Applying epoxy based reactive joining agent for joining the old concrete with fresh concrete to be applied within manufacturer's specified time as per manufacturers specification. (0.4 Kg / m ² of concrete surface).						
	Note : Applicable only when the full diameter of reinforcement steel is exposed.	20.00	Sqm.	309.00	6,180.00		
12	Supplying and laying true to line and level vitrified tiles of approved brand (size not less than 600 mm X 600 mm X 10 mm thick) in floor, skirting etc. set in 20 mm sand cement mortar (1:4) and 2 mm thick cement slurry back side of tiles using cement @ 2.91Kg./sqM or using polymerised adhesive (6 mm thick layer applied directly over finished artificial stone floor / Mosaic etc without any backing course) laid after application slurry using 1.75 Kg of cement per sqM below mortar only, joints grouted with admixture of white cement and colouring pigment to match with colour of tiles / epoxy grout materials of approved make as directed and removal of wax coating of top surface of tiles with warm water and polishing the tiles using soft and dry cloth upto mirror finish complete including the cost of materials, labour and all other incidental charges complete true to the manufacturer's specification and direction of Engineer-in-Charge. (White cement, synthetic adhesive and grout material to be supplied by the contractor).						
	(I) With application slurry @1.75 kg/ Sq.m, 20 mm sand cement mortar (1:4) & 2 mm thick cement slurry at back side of tiles, 0.2 kg/ Sq.m white cement for joint filling with pigment.						
	(B) Light Colour	3.00	Sqm.	1276.00	3,828.00		
	GRAND TOTAL				79,400.32		

N.B. : G.S.T. extra as applicable.